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OMYINESHM RASE ME(63)
2503 *25,00000 x12& 75,000
207 A RO H| 48,000 10,000 38,000
01 289 48,000 10,000 38,000
OSAER HIIS 27 UL BH ASE
& 18,000, 000& 14! 18,000
OMEHIIE 2= EBEH HE 24
18,000, 000& 14! 18,000
OMEHIES =& .28 LM EIt 24
12,000, 000& 14! 12,000
303 Z&f 3 2,100 2,100 0
01 243 2,100 2,100 0
OMgEs(dsHIIE) =8 = S A& 2,100
-z 1,000,000 15 1,000
-2 > 500,000 1S ™ 500
-& 300,000 »25 & 600
307 gl2tol & 743,400 560,500 182,900
05 BIZHRI & 3 743,400 560,500 182,900
OSAER HIIZS fEX™elb
138,000& *2,300& 317,400
OSAER HII2+H C2EH|
400,000,000 =14 400,000
Og=HIIS(BtAIZS) el 260,0002 *100& 26,000
401 A& HIZ 201 Y] 50,000 40,000 10,000
01 A& HI 50,000 40,000 10,000
OMdDl BHEXE & 10,000,000& «2H 2~ 20,000
OMdDl HHEXE KA 2,500,000 *120H 2 30,000
sEHHE =A243 XA 75,000 75,000 0




2N
X ZH -
L= B

el

|& BY rio

=L PO
Mot MEHY XY
40l 2Y L HES

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

Mo

10,697
12,569
51,734

A

75,000
10,697
12,569
51,734

75,000

1002 *750,000kg

Mo

75,000
75,000

75,000

10,697
12,569
51,734

75,000

M

150,000

45,000
105,000

66,666

83,334

EUNL

144,000
43,200
100,800

62,624

81,376

04 J12tNM 2 2 Xt
OZHIE XA

— A2

=E-gA
S T
[o2]
=

= ZcIbH

ES0CAHY)

IR

1
Jon
4
o

e

o

oo

N
o
H
0
Al

CROIMG (ZEE M

T
o

68,7203 x 15 95

68,720 x15H 202

68,7203 x15F x5

123,696,000 *14%

95,900& »15H

8,590& 15 »BAl 2t *150%

A VY A M M

Mo

144,000
144,000

144,000
97,926
29,378
68,548
20,616

6,185
14,431
5,154
1,546
3,608
17,318
5,195
12,123
1,439
432
1,007
1,547
464
1,083

62,624

81,376

nNo
2
e
e
M0
02
=

UL

6,000

1,800
4,200

4,042

1,958

01 AP 2telH]
O&HIE XA

(]
=

6,000
6,000

4,042

1,958




SH: BHAMD
M NG MEBEE X4
Selr MY 2T U HES (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—MEHIE 22l HE EE2E2 MH(BEE
A ELSOCANEY ) ,000& *2, 00004 2,000
= 600
s 1,400
—SA2HII2 22 HHE 22 MEA(EE
& MESOCAIY) 1,000& *2,0000H 2,000
< 600
s 1,400
— 1383 MEYN E22 M (ILE 42
SOCAFEY) 1,000& *2,0000H 2,000
< 600
= 1,400
HEES = L ESAY 60,000 25,000 35,000
< 18,000
[ia 42,000
201 ¢er2d| 60,000 25,000 35,000
< 18,000
s 42,000
01 At 2t 2l 60,000 25,000 35,000
OZHIEx= AL 60,000
—MEEE 1Y E=AS(FEE MESOC
Ared) 3,990& x5,000H4 19,950
< 5,985
[ia 13,965
—HXH ESAY 286,070& = 14004 40,050
< 12,015
s 28,035
HOIZS HMelAl& 6,636,313 1,938,879 4,697,434
= 930,000
s 5,706,313
HIIE MelAd 2Y 2,684,641 712,911 1,971,730
101 @124l 481,991 98,921 383,070
03 I AHA2ZZ2HE > 10,700 5,300 5,400
OFALYLPEAL TSH(HES 42 22X)
150,000& »25H »23| 7,500
OLAZHG (XHX, B S) &3 W=l
800,000& x4 H 3,200
04 JIZHHZ2Z 2RSS E+ 471,291 93,621 377,670
oMl & HEES &4 471,291
—Jles 77,000 *14H »250 269,500
— =5 77,0003 x 14«50 53,900
S PN ER= 77,0003 x 14«11 11,858
—ZW=<(E) 77,0002 *14Z *502 +150%/2 40,425
- BYIRLY(BEY)
77,0003 *14H «14 2 «250% 37,730
—EEZ(4UEE) 413,413,000 »14% 57,878




SN HEAMD
HMu: NE MBEZ TA
S HIIE MelAl4 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
201 Le-2d| 275,200 282,200 A7,000
01 At 22l 214,800 221,800 AT7,000
OHJIE MelAlE 22X 2l
,000& +7&H +100& 5,600
Ogd =& ¢ XY S| gX= 98,400
— =4 640,000& =103 x12& 76,800
—goEed 900,000& *23| x12& 21,600
OWBAIE BRS FIIZMN 222 (HIIS22
&) 32,800
—&HE+ 350, 0003 44 & %123 16,800
— Xl ot== 250,000& * 120 2 43 12,000
- XNE= 500,000 *x2JH A 43| 4,000
OAMNEZZ MMEAME(0E,H2) AE22SE
A =2(HIIS22Y) 46,800
—&ot=E =828 6,000,000& »20 2 *13] 12,000
—HEHIE &4 1,200,000& *6H 2 13 7,200
—&E+ 350, 000& 24 A x4 3| 2,800
— XIGt== 250, 0003 61 2 *4 3| 6,000
- XaZE= 500, 0003 *4JH A 43| 8,000
—ELQAET T A 1,200,000& *8H 2 13 9,600
—HEAIE JIAEA 300, 0002 *4JH A % 13| 1,200
OMEAIE AIZ=22[EI1Z AL 7,000,000 13l 7,000
OHJISXEAE 28= & 100,000 x4 400
ORIHIAMAE MHIAZ 950,000& »12& 11,400
oYy E CCTV Xz 350,000& 12 4,200
OHJISXMeAIE ASH "It ZAN =2
2,200,000& x13l 2,200
OHIISXM2IAIE stz 285 2L
3,000,000& x23| 6,000
02 232gHl 60,400 60,400 0
OHJIS(HE, MES)AE 2223 HA
3,500,000& x12& 42,000
OS=2HIISE 3 (HII S22y R58X22)
s 2,000,000& =13l 2,000
OANEZH |XHI(HE, HEEAH)
500,000& x10&*13] 5,000
OHJISEEM2E Hd=HI(HHsS )
1,900& 204 *3&*100 11,400
206 M= Hl 97,760 84,100 13,660
01 = HI 97,760 84,100 13,660
OMgEdH 228 72 100,000 «10& 43| 4,000
oNgss a2 gz FY(1EE)
10,000& *5000H 5,000




SN HEAMD
M NG MEBEE X4
Sl HIIZ MelAld (&)
(o
A FB B (EN) - HRAY - BES 0l &t o il HImEET
OHJIS MHEAMNE SENH P&
2,000,000& x53| 10,000
OPETS =D Z2& 4 72 2,500,000&1& 2,500
OHJISHMeIAIY SHAAXZF(ASH 14 )
30,000& 200 6,000
OMSAIE M FL(AFHMAE 204 )
60,000& »100& 6,000
OFE+ MaAE AR (A, IE) 25,100
— HIBPHCS( 24 & )-&l R ON & 250,000% *50& 12,500
— It ACH(HA) 300,000 26 & 7,800
— SStH2H (Ha 200 /S) 15,000& 120& 1,800
—EFHE AFHHMANE 24HE  4,000& *x500kg 2,000
— XOIE A AMULES (M A 20,000& *50& 1,000
OHAE A28 (&L, OtA3 8)
1,200 «70H 240 20,160
OHJIE MelAe EA &7 2
400,000& *43] 1,600
QHIIZHMel AN HosE 2 (3EX &)
600,000 *43| 2,400
OHJIg 28H(dg) &A 2
1,000,000& 1574 15,000
308 XX EH SOl A 186,150 186, 150 0
07 IXNHMAR S = 186,150 186, 150 0
OMEHIIE H=RE3 186, 150
—MEHIE A2 10,000& »18&= »365L 65,700
—MEHIIZ 15,0003 »18E 365 98,550
—Jd&HJI2 e 30,0003 x2=+3652 21,900
401 Al HI K 201 I 1,070,540 50,540 1,020,000
01 A& HI 1,070,000 50,000 1,020,000
OMEHIIS(EY, 2d04)Mel 84
300,000& *3,400= 1,020,000
O(MF,JIE)EAIE B2 20,000,000 *13] 20,000
OMEE HEANE B2(25)| S)
2,500,000& »2E »23| 10,000
OHJIZ MelAlZ W EHl =&l
5,000,000& =23 10,000
OHJIZE MelAlE S8 A4dHEH AA
5,000,000& 23| 10,000
03 A& S THHI 540 540 0
OHIIZS MelAlE AE=E AIZ2UBHI
50,000,000 *1.08% 540
405 RHoHE S HI 573,000 11,000 562,000
01 AL EZFH S 573,000 11,000 562,000
OMEA=EI 22 (15kg) 1,500, 000% =1 CH 1,500




A2 M
WG MBEE TN
HII2 M2AlE cet )
SN HH-S(BN) - MBAY - B il HlnE2
OMEIl 22 (15kg) 1,500, 0002 = 1CH 1,500
OMg Il &8 Ao P&
80,000,000 = 1CH 80,000
OUE Il & 450,000,000 = 1CH 450,000
OXAX 7L 40,000,000 = 1CH 40,000
HIIE A2AAME 29 851,672 858,968 ANT,296
101 @124 dl 162,041 102,147 59,894
03 RIAHAZZ2THE = 6,400 4,900 1,500
OEZANESAX HIISA2AALE HE FIHA
g4 95,0003 x 10 2 1,900
O22AANE2Y 22X II=Hl
250,000& x9H *23| 4,500
04 DIt Z2XEES 155,641 97,247 58,394
OL2ZAE 23 134,101
—Jlas 77,0003 x3H x250 57,750
- =54 77,000 »3H 502! 11,550
— QX 77,0003 x3H 15 3,465
—or2Rsg
9,620& *3H *80A| 2+* 123 «50% 13,853
~-zn2949
9,620& *3% *50Al 2+ 123 *150% 25,974
—ZS22JSM HBLY(AAHSIEd] 2
el)=¢ 100,000& 3 128 3,600
— I 40,0003 x3Y 128 1,440
—-BEZ(4UHEE) 117,632,000& * 14% 16,469
O22AE 29 JIZHZ2Z2X A2H A
250,000& »3H 750
OL2ZAE 2 JIZEHNZZ2A E1&2 3
77,0003 x3H 90 20,790
201 £B-2dH| 422,748 489,938 267,190
01 At 22/l 108,140 69,650 38,490
Ozt HIA HII2 Mel I¢ ==2
550,000& x110& 60,500
OmJl2g Mot 53 A 242
870,000& x523] 45,240
OLZAE ARES 72 200,000& x123] 2,400
02 =224l 314,608 420,288 A 105,680
OHIIS (AL HE HES)AE 2223 HA
13,500,000& »12& 162,000
OFIILEBA =2 (=HLH FIIZAM &
SN2 4) 700,000& x12& 8,400
OM4Z 23 (Y24, ¥EBL S)
500,000& = 12& 6,000
OAg ANIEdEH(ZSIIs & SE§FEY &H)
=2 900,000 *23| 1,800




SN BEAMD
M G MEEEH 4
S HIIE MelAl4
SH - FB S (BH) - HRAY - BES il &t o il
Oagordate] dRUH#E 180,000& »12& 2,160
OA2AE 28 |RFJH 1,700,000& =122 20,400
Oo2ge =2 34 S 1,500, 000& *43| 6,000
O3JIE=I |XNE=+ 3,000,000& »23l 6,000
OX2HAI" A& EHl S XAHl 1,000,0008 128 12,000
OHIISM2IAIE &II&H SXE=H
334,000& x12& 4,008
OomII2 a2aels &2 A2 =2=5(
FHIIZA & RAUES) 200,000& »12& 2,400
OA222 JIAHEH Jtsey 7
300,000& x63| 1,800
OA2Z JIHEH RN 4235 F¢
1,000, 000& *43| 4,000
OA2AIE O0ISA 58 2 (e 0s
2 22 IE) 6,000,000& x13] 6,000
OS1LY =&Y HEMEE 2 0HE 2U(H
JlotE el Xt MR IAl 2016.7.28)
1,000, 000& *32] 3,000
OHIIE A2AIE HELHM ESCOAMY Eels
&af g 11,440,000 62 68,640
202 04 Hl 1,440 1,440
01 2K 0l tl 1,440 1,440
OBZINZAE (222 S) Y25 L A8
60,000 *4H x63] 1,440
206 = Hl 21,700 21,700
01 MHZ 4l 21,700 21,700
OA2ANE 28 435 ¢ 19,900
— WOy IEE ANZ (2L 20kg/E)
20,000& 502 1,000
—EHALISE HHY AN 500,000 <123 6,000
— 38 24 1,500& *3,000kg 4,500
— QoS Mg =2a4E
500,000& »12& 6,000
— 2 F2H 50,000& *30= 1,500
—olgua=sX 3,000& *3004 900
OL2AANAE tMEE (138 YAOAT,
s 8) 300,000& x6H 1,800
401 AIEHIZ 28I 243,743 243,743
01 A& Hl 242,000 242,000
OX2ANE RX.E= 15,000, 000& 13| 15,000
OA2t2 SHEH HUE DA ()
52,000,000& x13] 52,000
OAL22 Wats 1t B8 E=
40,000,000& =13 40,000
OA22 WEH WA 75,000,000& =13l 75,000

_20_




A 23AE
HMu: NE MBEZ TA
S HIIE MelAl4 (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Oaxz2z 28 238 |, B+
20,000,000& =13l 20,000
OA2Z AZ2E DAH(2MEE E)
20,000,000& =13l 20,000
OWt#hIl |Xl - E= 20,000,000& x13] 20,000
03 AIE 2 0H bl 1,743 1,743 0
OHIIE &2AE ASFE AIER2UHBHI
242,000,000& *0.72% 1,743
HIIZS HESAA 2C8H Z4AY 3,100,000 0 3,100,000
= 930,000
e 2,170,000
403 MtXISHE X201 E 3,100,000 0 3,100,000
= 930,000
i 2,170,000
02 SO 2SOCHeH 2R 2 E A I 3,100,000 0 3,100,000
O=HIEX AL 3,100,000
—HJIS MHEAL 2CH ZEAY
3,100,000, 000& * 14 3,100,000
= 930,000
= 2,170,000
AERMOLA 724,776 197,076 527,700
= 64,298
< 21,250
i 639,228
AZ MO U T=ZHA 2te| 724,776 197,076 527,700
= 64,298
= 21,250
s 639,228
AT MY 2ol 274,980 62,380 212,600
201 Let24d] 43,440 33,240 10,200
01 At 2teltl 43,440 33,240 10,200
OUAT 2HE YMRBE 29
10, 000& *2,0004 20,000
OAEZMAaLr EEE S 7Y
10,0002 *5000H 2 5,000
Oas=0Y s2=2 & #+<  1,5008 1,000H 1,500
OAES Hgas a8 At 2
50,000& *30H 1,500
ORIMZAIA 2ZAE 72 50,000& x20H 1,000
OUUSAFYYE JMIE ELESE
10,000& *500H » 13| 5,000
OAMA A OF2HE= IS 150,000& x4 H 600
OSHI (ML B L 0FLE)
8,000& x4 120 3,840
ORSAE F&==Itl 3,500& 20024 *6H A 4,200
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SH: BHAMD
M AZSMOH
SHelr ABPIMOIE U BEYA B2 CEEEED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
01 AP 22| H| 10,000 0 10,000
OFAMEZHM LSS MM HAEE
10,000,000 = 1Al 10,000
301 et A= 4,000 12,000 A 8,000
12 JIEtE2 A= 4,000 12,000 A 8,000
OFAMSZH 22l 200,000 x200H A~ 4,000
NNAAH Jl=M2e N (XXM EX) 5,796 5,796 0
= 2,898
& 1,360
= 1,538
201 et Y| 1,796 1,796 0
= 898
= 898
02 B232%H| 1,796 1,796 0
OZHIEXZAY 1,796
— SIS DAY (ZHAY)S A
149 ,666& 12& 1,796
= 898
= 898
301 et M= 4,000 4,000 0
= 2,000
o 1,360
= 640
12 JIEtE &= 4,000 4,000 0
O2HExZAY 4,000
— AL Z2AIE &S| 50,000& 4 x203] 4,000
= 2,000
= 1,360
= 640
Helo] JIgalsd dgaed 89 4,000 4,000 0]
= 2,000
o= 2,000
301 et M= 4,000 4,000 0
= 2,000
=} 2,000
12 J|EtE2 A= 4,000 4,000 0
OZHIEXZAY 4,000
—0Elol JIsAa3 dgdae|d &=
50,000 x4 x203] 4,000
= 2,000
= 2,000
Helo] a2 XNJME X 29 118,600 100,000 18,600
= 59,300
& 17,790
= 41,510

_23_




D]
O oft o

40 40 H0

47t
Mok
Mot 2 BEA e

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
gIztol & 118,600 100,000 18,600
= 59,300
< 17,790
s 41,510
QIZtRIEZ 118,600 100,000 18,600
OIHIEx= At 118,600
—0eol =4 XNJdH 299
118,600,000 10 2 118,600
= 59,300
= 17,790
2 41,510
= otdetel 200 200 0
=2 100
< 100
202 o4dl 200 200 0
2 100
< 100
U A b 200 200 0
O3HIEXZ ALY 200
—MEEF otE 2t 200,000& 200
=2 100
< 100
el 4,896,674 5,244,501 N 347,827
HEHHK = 4,896,674 5,244,501 AN 347,827
= &3 4,896,674 5,244,501 AN 347,827
701 JIEtel HSHES 4,859,674 5,207,501 A 347,827
01 JIEtSI HEES 4,859,674 5,207,501 AN 347,827
Ox&MNEELEIAHN &3 4,859,674,000& 4,859,674
702 )I3HEES 37,000 37,000 0
MII3EE3 37,000 37,000 0
OHIISM2IAIYE FHXGXAIN 2 (MY IIESE
o 2HEHOH 24 2l 10%) 37,000, 000& 37,000
HE2HZH (M40 133,891 121,131 12,760
Jl=234l 133,891 121,131 12,760
Jl23Hl 133,891 121,131 12,760
201 £B-2d| 64,131 64,131 0
01 AL 22l 64,131 64,131 0
ORANEAH 1,831,000& »29H 53,099
O= &l 5,800
— S20albl 8,000 x29H x25 5,800
O=SAI Xt 5,232
—ZA= A 286,000 x1CH=12& 3,432
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SH: BHAMD
B LSRR (BN
¢l =gl (chel & 9l)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
— SHS A 150,000 »1CH x 12& 1,800
202 oddl 64,960 52,200 12,760
01 = LH 4 1l 64,960 52,200 12,760
O2L ol 120,000& »29H «12& 41,760
O22 Kbl 100,000 »29H 8 23,200
203 R =& 4,800 4,800 0
04 A2 =X Y| 4,800 4,800 0
ORAN2EYE=LHI 400,000& 123 4,800
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